

CHANGE ORDER

(Instructions on 00843-2)		No. 4
PROJECT: Bulldog Drive Improve	ements	
DATE OF ISSUANCE	12/17/2013	EFFECTIVE DATE 12/17/2013
CITY OF PALM COAST		
CITY Contract/Purchase Order No.:	20110463	
CONTRACTOR N/A		ENGINEER/ARCHITECT Stantec
You are directed to make the following	changes in the Contract Documents	3.
Description: Additional Fee to prov	vide Construction Engineering & Insp	pection Services for a Not-To-Exceed amount of \$263,630.08.
Reason for Change Order:	administration services. CEI service	ge to provide services during construction to supplement existing construction es will include construction oversight and will include but not limited to full uction and management of contractor submittals such as shop drawings, eports.
Attachments: Construction Services	s Fee Estimate	
CHANGE IN CO	ONTRACT PRICE:	CHANGE IN CONTRACT TIMES:-
Original Contract Price		Original Contract Times
\$348,000.00		Substantial Completion:N/A
		Ready for Final Payment:N/A
		<del>(days or dates)</del>
Net Change from previous Change Or	ders No0 to No3	Net change from previous Change Orders No to No
\$233,696.89		(days)
Contract Price prior to this Change Ord	der	Contract Times Pior to this Change Order
\$581,696.89		Substantial Completion:
		Ready for Final Payment:
		(days or dates)
Net Increase (decrease) of this Chang \$263,630.08	e Order	Net Increase (decrease) of this Change Order
		(days)
Contract Price with all approved Chang	ge Orders	Contract Times with all approved Change Orders
\$845,326.97		Substantial Completion:
		Ready for Final Payment:
		(days or dates)
RECOMMENDED:	APPROVED:	ACCEPTED:-
Ву:	Ву:	By:N/A
Engineer/Architect (Authorized Sig	nature) City (A	Authorized Signature) Contractor (Authorized Signature)
Date:	Date:	Date:
	00	0843-1



Project: Bulldog Dr	Full-Time		CEI Services					
Construction Phase Ser Project duration:		months				Total =	•	263,630.08
						Use ~	\$	263,600.00
Rates: Billing Rate Table: <u>Description</u> ML PE PM/PA FT2 AM3 CT2 Crew 3	2 Level 16 15 12 7 4 7 Custom 1	Rate   196.00 /hour   168.00 /hour   142.00 /hour   98.00 /hour   76.00 /hour   98.00 /hour   98.00 /hour   142.00 /hour		Hours 19 134 518 1388 282 64 0	Fran Mike Ferd CEI			
Summary								
_	nt Engineeri	ng Services			\$	15,052.00	\$	127,841.28
2.1.1. <u>Meetings</u> 2.1.1.a. Pre-constru	ction Confere	Ince	\$	1,644.00	φ	15,052.00		
2.1.1.b. Progress m			\$	13,408.00				
-	d Monitoring		·	-,	\$	59,362.72		
2.1.2.a. Maintain red	-	nittals	\$	10,184.16	Ψ	39,302.72		
2.1.2.b. Assist with I			\$	34,155.04				
2.1.2.c. Review lab	-	. ,	\$	7,551.52				
2.1.2.d. Record Dra	wings		\$	2,944.00				
2.1.2.e. Certification	ns & Closeout		\$	4,528.00				
2.1.2.f. Field review	vs of Maintena	ance of Traffic (MOT)	\$	-				
2.1.3. Plans and C	Construction A	<u>Assistance</u>			\$	38,323.52		
2.1.3.a. Assist with i	interpretation	of plans	\$	12,747.52				
2.1.3.b. Assist with	analizing char	nges	\$	16,384.00				
2.1.3.c. Engineer sit	te visits		\$	4,960.00				
2.1.3.d. Utility Coord	dination		\$	2,272.00				
2.1.3.e. Walkthroug	h and punch I	ist	\$	1,960.00				
2.1.4. <u>Submittals</u>					\$	15,103.04		
2.1.4.a. Shop drawii	ng review		\$	-				
2.1.4.b. Maintain sta	atus and logs	of submittals	\$	15,103.04				
2.2 Periodic/Fu	ull Time On-s	ite Inspection					\$	135,788.80
2.3 Survey Cor	ntrol (Conting	gency)					\$	-
2.4 Subconsul	tant Services	6					\$	-



Project:				AFT FORM	FOR SCOP	E REVIEW		Full-Time		CEI Services
Construction		vice		montho				Total -	¢	262 620 08
Project durati	ION.		0	months				<b>Total =</b> Use ~		<b>263,630.08</b> 263,600.00
								000	Ψ	200,000.00
2.1	Manageme	ent E	ingineeri	ng Service	s					
2.1.1.a.	Pre-constr	ucti	on Confe	erence						
					hrs					
	ML	\$	196.00		2		\$	392.00		
	PE	\$	168.00		2		\$	336.00		
	PM/PA	\$	142.00		4		\$	568.00		
	FT2	\$	98.00		2		\$	196.00		
	AM3	\$	76.00		2		\$	152.00		
	CT2	\$	98.00		0		\$	-		
	Cost/proje	ct							\$	1,644.00
	003001030								Ψ	1,044.00
	Notes:	At	tend mee	eting, invita	ations, agenc	la, minutes, a	listribu	tion list		
2.1.1.b.	Progress n	neet	inas							
				hrs/mtg	hrs/month	months				
	ML	\$	196.00	0	0	8	\$	-		
	PE	\$	168.00	2	4	8	\$	5,376.00		
	PM/PA	\$	142.00	3	6	8	\$	6,816.00		
	FT2	\$	98.00	0	0	8	\$	-		
	AM3	\$	76.00	1	2	8	\$	1,216.00		
	CT2	ֆ \$	98.00	0	2	8	э \$	1,210.00		
	012	φ	96.00	U	0	0	φ	-		
	Other Meet	ings	(Public, l	Jtility Coord	lination etc.)		\$	-		
	Cost/proje	ct							\$	13,408.00
									Ŧ	,
	Notes:		-		ations, meet	ing, minutes				
		Bi	weekly	Meetings						
2.1.2.a.	Maintain re	ecor	ds of sub	omittals						
					hrs/week	weeks				
	ML	\$	196.00		0	35	\$	-		
	PE	\$	168.00		0	35	\$	-		
	PM/PA	\$	142.00		1	35	\$	4,918.88		
	FT2	\$	98.00		0	35	\$	-		
	AM3	\$	76.00		2	35	\$	5,265.28		
	CT2	\$	98.00		0	35	\$	-		
	Cost/proje	ct							\$	10,184.16
	Notes:									

🐌 Sta	antec
-------	-------

## DRAFT

n Phase S on:	8 mont	hs					
					<b>Total =</b> Use ~		<b>263,630.08</b> 263,600.00
Assist w	ith monitoring the p	project					
	5.1	hrs/week	weeks				
ML	\$ 196.00	0.5	35	\$	3,394.72		
PE	\$ 168.00	1	35	\$	5,819.52		
PM/PA	\$ 142.00	4	35	\$	19,675.52		
FT2	\$ 98.00	0	35	\$	-		
AM3	\$ 76.00	2	35	\$	5,265.28		
CT2	\$ 98.00	0	35	\$	-		
Cost/pro	oject					\$	34,155.04
Notes:	Review schedule	, quantities					
	Includes review	of payment applica	tions.				
Review I	ab test reports						
		hrs/week	weeks				
ML	\$ 196.00	0	35	\$	-		
PE	\$ 168.00	0	35	\$	-		
PM/PA	\$ 142.00	1	35	\$	4,918.88		
FT2	\$ 98.00	0	35	\$	-		
AM3	\$ 76.00	1	35	\$	2,632.64		
CT2	\$ 98.00	0	35	\$	-		
Cost/pro	oject					\$	7,551.52
Notes:							
Record I	Drawings						
N AL	¢ 400.00	hrs		۴			
ML	\$ 196.00	0		\$	-		
PE	\$ 168.00 \$ 142.00	4		\$	672.00		
PM/PA	\$ 142.00	16		\$	2,272.00		
FT2	\$ 98.00	0		\$	-		
AM3 CT2	\$   76.00 \$   98.00	0		\$ \$	-		
Cost/pro	oject					\$	2,944.00
	147 1.1			<i>.</i> .	. , ,		
AM3 CT2	-	\$ 76.00 \$ 98.00 /project	\$ 76.00 0 \$ 98.00 0	\$ 76.00 0 \$ 98.00 0	\$ 76.00 0 \$ \$ 98.00 0 \$ project	\$ 76.00 0 \$ - \$ 98.00 0 \$ - project	\$ 76.00 0 \$ -   \$ 98.00 0 \$ -   /project \$ \$





<u>ject:</u> hstructio	n Phase S	<mark>Drive CEI - DRAFT F</mark> ervices				Full-Time		CEI Service
ject durati		8 month	IS			<b>Total =</b> Use ~	-	<b>263,630.0</b> 263,600.0
2.1.2.e.	Certificat	tions & Closeout						
			hrs					
	ML	\$ 196.00	0		\$	-		
	PE	\$ 168.00	8		\$	1,344.00		
	PM/PA	\$ 142.00	16		\$	2,272.00		
	FT2	\$ 98.00	0		\$	-		
	AM3	\$ 76.00	12		\$	912.00		
	CT2	\$ 98.00	0		\$	-		
	Cost/pro	ject					\$	4,528.0
	Notes:	Prepare submitte	al packages, transm	nit coordina	te witt	h Desian Fnail	neel	n
		Project closeout		,		, e ee git 2.igit		•
		FIOJECT CIOSEOUT	accumentation.					
2.1.2.f.	Field rev	iews of Maintenance						
		<b>•</b> ( <b>•</b> • • • • • • • • • • • • • • • • • •	hrs/week	weeks	•			
	ML	\$ 196.00	0	35	\$	-		
	PE	\$ 168.00	0	35	\$	-		
	PM/PA	\$ 142.00	0	35	\$	-		
	FT2	\$ 98.00	0	35	\$	-		
	AM3	\$ 76.00	0	35	\$	-		
	CT2	\$ 98.00	0	35	\$	-		
	Cost/pro	ject					\$	-
	Notes:	Included in Insp	ection and Maintair	ning records				
				5				
2.1.3.a.	Assist w	ith interpretation of	plans hrs/week	weeks				
	ML	\$ 196.00	0	35	\$	-		
	PE	\$ 168.00	0.5	35	\$	2,909.76		
	PM/PA	\$ 142.00	2	35	\$	9,837.76		
	FT2	\$ 98.00	0	35	\$	-		
	AM3	\$    76.00	0	35	φ \$	-		
	CT2	\$ 98.00	0	35 35	φ \$	-		
	Sub-cons	ultants			\$	-		
	Cost/pro	iect					\$	12,747.5
	2000 pi 0						¥	,

**Notes:** *Includes coordination with sub-consultants where applicable.* 

Includes coordination of RFIs between Contractor and Design Engineer.

<u>oject:</u> onstructior				RM FOR SCOPE			Full-Time		CEI Services
oject durati			8 months				<b>Total =</b> Use ~	-	<b>263,630.08</b> 263,600.00
2.1.3.b.	Assist wi	th ana	alizing changes						
				hrs/change	changes				
	ML		196.00	0	8	\$	-		
	PE	\$	168.00	2	8	\$	2,688.00		
	PM/PA		142.00	6	8	\$	6,816.00		
	FT2	\$	98.00	0	8	\$	-		
	AM3	\$	76.00	1	8	\$	608.00		
	CT2	\$	98.00	8	8	\$	6,272.00		
	Cost/proj	ject						\$	16,384.00
	Notes:	As	sume approxima	tely 8 changes p	er project.				
				ion/review of cha					
2.1.3.c.	Engineer	site v	visits						
				hrs/month	Months				
	ML	\$	196.00	0	8	\$	-		
	PE	\$	168.00	2	8	\$	2,688.00		
	PM/PA		142.00	2	8	\$	2,272.00		
	FT2	\$	98.00	0	8	\$	_,		
	AM3	\$	76.00	Ő	8	\$	_		
	CT2	\$	98.00	0	8	\$	-		
	Cost/proj	ject						\$	4,960.00
	Notes:	Si	te visits coordii	nation with contr	actor subco	ncultai	nts etc		
	Notes.		view progress al			1507707	115 010.		
2.1.3.d.	Utility Co	ordin	ation						
			-	hrs/month	Months				
	ML	\$	196.00	0	8	\$	-		
	PE	\$	168.00	0	8	\$	-		
	PM/PA	\$	142.00	2	8	\$	2,272.00		
	FT2	\$	98.00	0	8	\$	-		
	AM3	\$	76.00	0	8	\$	-		
	CT2	\$	98.00	0	8	\$ \$ \$	-		
	Cost/proj	ject						\$	2,272.00

**Stantec** 

DRAFT





Project:		Drive CEI - DRAFT FORM	I FOR SCOP	REVIEW		Full-Time		CEI Services
onstruction roject durati		8 months				Total =	\$	263,630.08
	011.					Use ~		263,600.00
2130	Walkthro	ugh and punch list						
2.1.5.0.	Waiktino	agir and punch list	hrs					
	ML	\$ 196.00	0		\$	_		
	PE	\$ 168.00	4		φ \$	672.00		
	PM/PA				φ Φ			
		\$ 142.00	8		\$	1,136.00		
	FT2	\$ 98.00	0		\$ \$	-		
	AM3	\$ 76.00	2		\$	152.00		
	CT2	\$ 98.00	0		\$	-		
	Cost/pro	ject					\$	1,960.00
	Notes:	Time includes 2 round	de of walkthr	wah and nuna	h licti	e _ initial		
	NULES.	and final.	5 - 1111101					
		ana Final.						
244.0	Chan dra							
Z.1.4.d.	Shop dra	wing review	hrs					
	ML	\$ 196.00	0		\$	_		
	PE	•						
			0		\$ \$ \$	-		
	PM/PA	\$ 142.00	0		Э Ф	-		
	FT2	\$ 98.00	0		\$	-		
	AM3	\$ 76.00	0		\$	-		
	CT2	\$ 98.00	0		\$	-		
	Sub-cons	ultants			\$	-		
	Cost/pro	iect					\$	-
	• •							
	Notes:	Review by Design Eng	gineer. CEI wi	ll maintain sta	tus al	nd log of sub	mitt	als.
2.1.4.b.	Maintain	status and logs of subn						
			hrs/week	weeks				
	ML	\$ 196.00	0	35	\$	-		
	PE	\$ 168.00	0	35	\$	-		
	PM/PA	\$ 142.00	2	35	\$	9,837.76		
	FT2	\$ 98.00	0	35	\$	-		
		φ <u>το</u> οο	0	00	Ψ	5 005 00		

· · -	Ψ				Ψ
AM3	\$	76.00	2	35	\$
CT2	\$	98.00	0	35	\$
Cost/proje	ct				

Review progress schedules, log payments, change orders, rain days, SWPPP, Notes: Includes shop drawing review. Includes Primavera upload.

-

\$

15,103.04

5,265.28



Project:	Bulldog Dri	ve C	<mark>EI - DRAFT FORM</mark>	I FOR SCOP	E R	EVIEW		Full-Time	<b>CEI Services</b>
<b>Construction</b>		/ices							
Project durati	on:		8 months					<b>Total =</b> Use ~	<b>263,630.08</b> 263,600.00
2.2	Periodic/Fu								
	FT2	\$	98.00	hrs/week 40	\$	\$/week 3,920.00 urs total	l	weeks 35	
	Cost/projec	t							\$ 135,788.80
	Notes:	Full	time CEI, 1 repre	esentative.					
2.3	Survey Con	trol (	(Contingency)						
	Crew 3	\$	-	hrs 0					
	Cost/projec	t							\$ -
	Notes:								 
2.4	Subconsult	ant S	Services						
	Geotech Public Relat	ions					\$ \$	-	
							\$ \$	-	
									\$ -
	Total Const	tructi	on Phase Service	es					\$ 263,630.08